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Determine all polynomials P(x) with real coefficients

such that
(x+1P(x—-—1)— (x—1)P(x)
is a constant polynomial.

EREALTERP (x)[HE
(x+DP(x = 1) — (x = P () B




FULUEA

TE B REETHZP (x) (e
(x +100)P(x —1) — (x —999)P(x)

Eaet e




2. B

B8 aq, ay,...., a, H 1,2, ..., n FHNEFAHEK -
A\ B S AE IEEEE n > o] DLGE

0,a,,a; +a,,a; +a, +as,....,ay +a, +--+ a,

=+ 1{EEIELLn + 1 A REe:E ?




3. 5810

<SG HE A=A ABCHE
4P/ AG Ffy—B5 > [i152CPA = £CAB > 4Q

fo =

EBG FHy—8E » {§iE2C0B = LABC >

I AQGH T ME
Y — &

—t

H

=F5

=0 > H 2BCA=90°

FBPGHHAABEE L

’



4.4% 8
Let n be a positive integer.

For any positive integer j and positive real number 7,
define f;(r)and g;(r) by

fj(T)=min(j7”; n)+min(£, n)

gj (r)=min([jr],n)+min([ﬂ ,n)

where |x] denotes the smallest integer greater than or
equal to x.

Prove X_; f;(r) < n*+n < ¥7_, g;(r)
for all positive real numbers 7.
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f;(r)=min(jr, n)+min(;, n)

gj (r)=min([jr],n)+min(H ,n)
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